The Vengeance of San Gennaro Wordsearch
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Good luck with this. The colour is designed to make it even more difficult. You

have just TEN MINUTES. You may wear sunglasses.

Words can go up or down or diagonally, backward or forwards.

Gavin Freedman

Fioravanti Camorristi

Giuditta

Cornaro

Leah

Il Timore

Christopher Dunn

Bas Jan Ader

The Camorra

Biennale

Remo Scifoni

Carlo Tranquilli Maurizio Daniela

Orso

Scampia Baguette van

Carabinieri

Repubblica Veneta

Scroll down to see the solution.
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